
 
1 2 4
2 3 7
4 2 10

 

det   
1 2 4
2 3 7
4 2 10

  = 1 × det   
3 7
2 10

  − 2 × det   
2 7
4 10

  + 4 × det   
2 3
4 2

   

= 1 ×  30 − 14 − 2 ×  20 − 28 + 4 ×  4 − 12 

= 16 + 16 − 32

= 0 .

0  𝑛 × 𝑛 𝐴 

det 𝐴 = 0

 
1 2 1
0 3 2

−1 1 1
 

det   
1 2 1
0 3 2

−1 1 1
  = 1 × det   

3 2
1 1

  − 2 × det   
0 2

−1 1
  + 1 × det   

0 3
−1 1

  

= 1 ×  3 − 2 − 2 ×  0 + 2 + 1 ×  0 + 3 

= 1 − 4 + 3

= 0 .



0  𝑛 × 𝑛 𝐴 

det 𝐴 = 0

 

0 1 0 0
0 0 1 0
1 0 0 0
0 0 0 1

 

det   

0 1 0 0
0 0 1 0
1 0 0 0
0 0 0 1

  = 0 × det   
0 1 0
0 0 0
0 0 1

  − 1 × det   
0 1 0
1 0 0
0 0 1

  

= +0 × det   
0 0 0
1 0 0
0 0 1

  − 0 × det   
0 0 1
1 0 0
0 0 0

  

= 0 − 1 × det   
0 1 0
1 0 0
0 0 1

  + 0 − 0

= −  0 × det   
0 0
0 1

  − 1 × det   
1 0
0 1

  + 0 × det   
1 0
0 0

   

= − 0 − 1 ×  1 − 0 + 0 

= 1 .

0  𝑛 × 𝑛 𝐴 

det 𝐴 = 0

𝐴 𝐵  𝑛 × 𝑛 

𝐴 𝐵 𝐴𝐵

𝐴 𝐵  𝑛 × 𝑛 det 𝐴𝐵 = det 𝐴 det 𝐵 

 𝑛 × 𝑛 𝐴 det 𝐴 = 0

𝐴 is singular ⇒ det 𝐴 = 0

⇒ det 𝐴 det 𝐵 = 0 det 𝐵 = 0

⇒ det 𝐴𝐵 = 0

⇒ 𝐴𝐵 is singular .



𝐴𝐵 𝐴 𝐵

𝐴 𝐵  𝑛 × 𝑛 det 𝐴𝐵 = det 𝐴 det 𝐵 

 𝑛 × 𝑛 𝐴 det 𝐴 = 0

𝐴𝐵 is singular ⇒ det 𝐴𝐵 = 0

⇒ det 𝐴 det 𝐵 = 0 .

𝐴 𝐵

det 𝐴 ≠ 0, det 𝐵 ≠ 0

⇒ det 𝐴 det 𝐵 ≠ 0 .

𝐴 𝐵

𝐴 𝑛 × 𝑛 det 𝐼 = 1 𝐼  𝑛 × 𝑛 

det 𝐴−1 = 1/ det 𝐴 

𝐴 𝐵  𝑛 × 𝑛 det 𝐴𝐵 = det 𝐴 det 𝐵 

 𝑛 × 𝑛 𝐴 det 𝐴 = 0 𝐴 𝑛 × 𝑛

∵ 𝐴 is nonsingular

∴ 𝐴𝐴−1 = 𝐼

∵ det 𝐴𝐴−1 = det 𝐴 det 𝐴−1  

∴ det 𝐼 = det 𝐴 det 𝐴−1 

∵ det 𝐼 = 1

∴ det 𝐴 det 𝐴−1 = 1

∵ 𝐴 is nonsingular

∴ det 𝐴 ≠ 0

∴ det 𝐴−1 =
1

det 𝐴 
 .

𝐴 𝐵  𝑛 × 𝑛 𝐴𝐵 ≠ 𝐵𝐴

det 𝐴𝐵 = 𝑑𝑒𝑡 𝐵𝐴 



𝐴 𝐵  𝑛 × 𝑛 det 𝐴𝐵 = det 𝐴 det 𝐵 𝐴, 𝐵

𝑛 × 𝑛

det 𝐴𝐵 = det 𝐴 det 𝐵 

= det 𝐵 det 𝐴 

= det 𝐵𝐴  .

𝐴 𝑛 × 𝑛 det 𝐴−1 = 1/ det 𝐴 

𝐴 𝐵  𝑛 × 𝑛 det 𝐴 = 3

det 𝐵 = 5

det 𝐴𝐵𝐴−1 

𝐴 𝐵  𝑛 × 𝑛 det 𝐴𝐵 = det 𝐴 det 𝐵 𝐴, 𝐵

𝑛 × 𝑛

det 𝐴𝐵𝐴−1 = det 𝐴 det 𝐵 det 𝐴−1 

= det 𝐴 det 𝐴−1 det 𝐵 

= 1 × det 𝐵 

= 5 .


